CLOPAY MODEL 3200 (24 GA MIN EXT SKIN), CLOPAY MODEL 322G (20 GA MIN EXT SKIN)
HOLMES MODEL 240, 240G (24 GA MIN EXT SKIN)

DOORS UP TO 12°2"W ~— 2" THICK

(2) INTER. HINGES ON
r»w«mm-»A /

18'0" HIGH

MAX.

LocK_LocATION
ot A (BOTH SIDES)

MAX. 12'2" WIDE
INSIDE._ELEVATION

(4) $#14x5/8" SHEET
METAL SCREWS

S A « #
THE SUPPORTING STRUCTURAL ELEMENTS ARE TO BE [ ¢ : '
DESIGNED BY THE BUILDING ARCHITECT OR ENGINEER . / zn7 1y 3/8" 00 /ZTAR“;’&.OE&S%GSLAQ OPTION): 7 1-1/8"
OF RECORD FOR THE LOADS SHOWN ON THIS DRAWING. «' .... oY DA WASHER. MIN. 24" 0.0
S G 5 %Eﬁﬁg*iiﬁsgﬁgﬁu?;gﬁau WINDLOAD RATING | MAX DOUR SIZE:
w = ¢ C- - - -
; CLOPAY¢BUK_E)H\%‘ PROE}’UCE‘ ZCOMPANY 5 122°W x 180H
{4) 1/4"x3/4" SELF 8585 QiﬁKE BlVBe {j‘«: 8/28/96 DESCRIPTIGN:
TAPPING SCREWS MASON, ~QF 5S040 *25‘ - DRAWN BY: COMM 2" EPS: +40/-40 PSF DESIGN
Bus!dmg Products | (513) 770\*% ‘@U@"“ Mww DRAING TR
14 GA. END HINGE 14 GA. INTERMEDIATE HINGE g B R A AR S DT TG T SETET R B
CO m pG I"Iy Clopay Corporation All Rights Reserved. 1 O‘g 678

/\‘%—-_____ SICONE FELED CHANNEL SEPARATES
FRONT AND BACK SKIN GF DDOR

1.95" THICK, 1# DENSITY
EXPANDED POLYSTYRENE
FOAM INSULATION LAMINATED

INTERIOR SKINS.

12 GA. GALV. STEEL
TOP ROLLER BRACKET.
EACH BRACKET ATTACHED

- \/\ W/4 $14X5/8" SHEET
, METAL SCREWS.

: TONGUE AND GROOVE JOINTS.
/ 14 GA. GALV. STEEL ROLLER (END)

REV BATE DESCRIFTION
9| 08/2012 REVISED FOR TOL
10| 06/2013 REMOVED GLAZING OPTION.

///////l///////
e e e e e e e e e e

£ / //////// INSTALLER (TO SUIT)
/’ 18 GA. MIN, GALV. STEEL END STILE

STOP MOULDING BY DCOR

JAMB  CONFIGURATION

TO BOTH EXTERIOR AND 12 GA. GALV. STEEL TRACK BRACKETS
FASTENED TO JAMB WITH
5/16"x1~5/8" LAG SCREW
(FOR STEEL JAMBS: USE CONTINUOUS
ANGLE TRACK OR REVERSE ANGLE TRACK)

2" GALV. STEEL TRACK FASTENED TO
12 GA. GALV. STEEL TRACK BRACKETS.
TRACK ATTACHED TO EACH BRACKET
WITH TWO 1/4” DIA. RIVETS.

OR ONE 1/4" BOLT & NuT

THIS DOOR MEETS OR EXCEEDS THE DESIGN
LOADS FOR THE WIND SPEEDS LISTED BELOW
ACCORDING TO THE FLORIDA BLDG. CODE

QR IBC (ASCE7) FOR THE FOLLOWING
COND{TIONS: 1} ENCLOSED BUILDING, 2} BOOR
HAS 2' OF WIDTH IN BUILDING'S END Z(}NE

3) IMPORTANCE FAcmR QF 1.0, 4) R 735 HORIZONTAL TRACK SUPPORT BY
HINGE. EACH FASTENED TG SLoPE LESS TR 10, 5) SO SAFETY FACTOR ? DOOR INSTALLER (T SUIT)
Y END STILES W/(4) #14x5/8" WIND SPEED (MPH) S%SO 140 | 140 7
/! SHEET METAL SCREWS AND W/(4) EXPOSURE LEVEL (B orCl B C
1/4"x3/4" SELF TAPPING SCREWS. MEAN ROOF HEIGHT| 30° | 307 | N/A
) 13 GA, GALV. STEEL FLAG BRACKET.
SECTION A= TABLE 1 ‘ EACH FASTENED TO WOOD JAMB WITH
: TOTAL U—BARS! = - (3) 5/16"%1-5/8" WOUD LAG SCREW.
3" TALL x 20 GA. GALV. STEEL LA () RS -
® . tad
U—BAR. TWO U—-BARS ON EVERY 6:3:: :O 8:0:: 6 x TRACK CONFIGURATION LHR TOP BRACKETY
ODD NUMBERED SECTION (STARTING g3 10 1007 8 % - DOUELE HORIZONTAL
FROM THE BOTTOM) AND ONE U-BAR [103 1O 12707 9 3 TRACK
E)N EVERY EVEN NUMBERED SECTION. }ig]tg 1;3 };z o u
SEE TABLE 1 FOR TOTAL U—BARS 2 ; I 2" GALV. STEEL TRACK,
REQUIRED). U—BARS ATTACHED W/(2) L1310 1801 14 - TRACK THICKNESS: .060"
1/4"x3/4" SELF TAPPING SCREW MAX. SECTION HEIGHT: 24" & TRACK ATTACHED TO UBLE TRACK
AT EACH HINGE LOCATION. % TRACK BRACKETS WITH &4l Low_HEADRCOM_OPTION
f TWO 1/4" DIA. RIVETS,
27 GA. STEEL INTERIOR SKIN WITH Q L
\ GALVANIZED, BAKED—ON PRIMER NOTE: DOUSLE TRACK LOW = | = TYP. 2—1/2"x12 GA. GALV. STEEL TRACK BRACKET.
AND A BAKED—ON POLYESTER PAINTED  HEADROOM, HI-LIFT TRACK, & 24" 0.0 EACH TRACK BRACKET FASTENED TO WOQD
TOP COAT. FOLLOW—THE—ROOF TRACK, © (le5) JAMB WITH ONE 5/18"x1—5/8" WOOD LAG SCREW.
# AND VERTICAL LIFT TRACK : (FOR STEEL JAMBS: USE CONTINUOUS OR
ARE AVAILABLE OPTIONS. 3" A H. REVERSE ANGLE TRACK).
) TRACK ALSO AVAILABLE. v | i JAMB ATTACHMENT
:;‘Q 19 L*E‘;' PREPARATION_OF JAMBS_BY OTHERS.
- 3_1 /"2’;,’ ‘ e MASONRY QPENINGS (2 OPTIONSY:
\ 1) 1/4"x1-3/4" MIN. EMBED TAPCON CONCRETE ANCHOR.
START AT 7" FROM BOTTOM AND 14" O.C.
A2 O GALY. STEEL BOTTOM BRACKET. 2) 3/8"x1-1/2" MIN. EMBED SLEEVE ANCHOR BOLT.
ATTACHED WITH {(4) #14x5/8" SHEET : b
METAL SCREWS. START AT 7" FROM BOTTOM AND 18" O.C.
DESIGN ENGINEER: MARK WESTERFIELD, P.E, STEEL_OPENINGS (2 OPTIONS):
1/8"x1" LONG FILLET WELD (E60XX ELECTRODE
a’i‘“dm*?i”f« g%@é%%{b FLORIDA P.E. #48495, NC P.E. 23832, TEXAS P.E. #91513 1y 1/ (
) DESIGN LOAQ&“«(} 0 PSF & ~40.0 PSF MIN.). WELD TO BE LOCATED VERTICALLY ON
24 GA. MIN. STEEL EXTERIOR SKIN WITH TEST . Lq,@;{)?s E—* Q ;@sg & —60.0 PSF ANGLE AT 24" CENTER AND TACK WELD TOE OF
GALVANIZED, BAKED—ON PRIMER

|
AND A BAKED—ON POLYESTER PAINTED TOP COAT.

’?.'Ev

PR

) {END STILES HELD BY HINGE SCREWS}) SUIDE BOLT
) [ .y END LOCK ENGAGEY
STILE INTO VERTICAL
TRACK. ONE
$ $ LOCK ON
l 2.4 | EACH SIDE
OF DOOR.
INSIDE_SLIDE_BOLT
14 GA. GALV. STEEL INTER. HINGE
FASTENED TO INSIDE SKIN W/(4)
EACH #14x5/8" SHEET METAL SCREWS.

7/168"7 PUSHNUT INSTALLED ON ROLLER
SHAFT FOR UNRESTRICTED OPERATION.

14 GA. GALV. STEEL ROLLER HINGE
FASTENED TO END STILES W/{4) EACH
#14x5/8" SHEET METAL SCREWS.

2" 10 BALL SHORT STEM STEEL ROLEER WITH
STEEL OR NYLON TIRE

ANGLE AT SAME SPACING.
2) 1/4"x3/4" SELF TAPPING SCREW.
START AT 7" FROM BOTTOM AND 22" O.C.






